Ownwjnipjwu yéwp

Suwhwwynn gnyp Uwwnwpdwu
</ (€< ) dwdlbn (wsfu.
Skuwly Uwltpbu | dbpoti-Yut LLZZZ‘“ op)
3,000
1 | Ujwnndbiptuwubph quwhwuinnud (wulwlu dnntihg) 10,000 << npwd | ££
npwd
Yuwhwwndwu
3,000 hhduwlwu
5 S;J&gu;it;]w)qwnwnwjhb obUpnud puwlywpwuubph quuwhwwnnd (wulwfu 15,000 << npud | << huptunynipjut
naung npwd wpwdwnpnud /1-2
op/
3,000
3 | <nnwuwnwpwdpubiph guwhwunnud (wulwlu swihhg b bpwuwynieintupg) 20,000 << npwd | ££
npwd
3,000
agnzu 1001 55 000 << npuy | <<
P npwd
3.000 Lwfutw Yuu
4 Unwuduwwnubph b wdwnwungubtiph quwhwwnd  (Yuiujwd 101150 pd | 30.000 << npud | << wywnp
swithbiphg) wnpwdwnpnud
9 npwd
Mop/
3,000
151 pdl 35.000 << npud | €<
wiybi
npwd
3,000
‘52“2“ 1001 35 000 << npud | <<
P npwd
3,000
100-150 pu | 45.000 << npwd | ££
npwd
3,000
Ny puwybh bW wnunpwiht nmwpwsépubiph qguwhwwunnid B ’
5 Juwtiniputn, Upwwliubn U wb/ 151-200 pu | 55.000 L& npwd | ££
npwd
3,000
201-250 pu 65;1]?500 << I<e
nn Apwd
3,000
251 pdlu wwjdwugpwjhu L
wyby
npwd
3,000
‘1[;“2“ 5001 50 000 << nput | <<
P npwd
3,000
231_1000 60.000 << npwd | ££
d
Cwuwpwlwlywu b wpnwnpuyu' gninuawtwynipjwu gnouéo
6 gjninupuwnpulwi tnwpwdputiph guwhwwnn (wuwutwgnd, | 1001-1500 70.000 << nnud <’<
Utwih6, uwnbwpwlwhl nwnwdpltin, shpdngwjht pu ' Ll "
nwnwdpubin) QPOOO
1501-2000 ’
§ 80.000 << npwd | ££
P npwd
3,000
2301_2500 wwjdwuwgpwipu | <<
P npwd

dhpotufui ghwhwndwt dudwiwl guwhwndwb hhdtwlwt Jdwpp wujuutgynid | twpwddwph swthny:




